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Defn: A Bernoulli Equation has the form y’+ p(r)y = f(r)y", where r is any real number except 0 or 1
STEP 1: Let y,(r) be a solution to the complementary equation y’ + p(f)y

STEP 2: Guess a solution of the form y = uy,, where u(r) is some (unknown) function of ¢.
STEP 3: Substitute into the original equation and separate variables. Then integrate to find u
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STEP I: In this case, we always use y, = /. MEMORIZE IT!

STEP 2: Guess a solution of the form y = uy, (so y = ut).

STEP 3: Substitute into the original equation, rearranging to use u =é when necessary. Then
integrate to find u.
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